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Choose the correct answer from the following :
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«gociology is the science that deals with
social group.” Who said this?
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(d) TETSIGE ST AU CFIC ‘social control’
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Who first used the concept ‘social control’
in sociological discussion? . J

(i) CRSIESH
Maclver

(iij) (. 9. I
J. S. Roucek

(i) ©HS. F. SR
W. F. Ogburn
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E. A. Ross
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Which one of the following concepts is not
a collection of individuals?

(i) &
Society

(ii) R
Community

(iii) IR
Institution

(i) TS

Association
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Sumner
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Hayman
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Hoffman
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“There are three main powérs—economic,
social and political—-which help for social

stratification.” Whose view is this?
(i) & @ W
Max Weber
(i) <l I
Karl Marx
(iii) R ofR
Kingsley Davis
(v) SFe. 2 T
W. E. Moore
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g in brief

Write on any four of the followin
(within 150 words each) :

(a) TG 2

Nature of sociology

(b) gﬁmaﬁmgﬁaﬂmﬂmw

The meaning of role set and role conflict

(c) et TR
Reference group
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OTms in social life Explain the role of social custom and law
" as agent of social control.
3.
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Answer an 00 > What is meant by social stratification?

(Within S(i,ofour of the follows 14x4=56 Explain its forms with example.
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